
1 Stabilität
Beispiel

       Bereinigter Gewinn 131.100

 +   Summe aller Einlagen +19.000

 -    �Summe aller  
Entnahmen -97.000

 =   �bereinigte  
Eigenkapitalverände- 
rung im Unternehmen 
(Bilanz)

53.100

 -    �Einlagen aus  
Privatvermögen -12.000

 +   �Entnahmen zur   
Bildung Privatvermögen +6.500

 =   �bereinigte  
Eigenkapitalverände- 
rung Unternehmer

47.600

       Eigenkapital Ende WJ 2.100.000

 :     �Gesamtkapital Ende  
WJ (Summe Aktiva) 3.080.000

 =   Eigenkapitalquote in % 68%


